
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M063022677 C 6.4(A) [R] None STAAR: M2

2 M063022933 G 6.4(A) [R] None STAAR: M2

3 M061086658D C 6.3(C) [R] 6.11(A) [P] STAAR: M2

4 M061086646D H 6.3(B) [S] None STAAR: M2

5 M061086631D D 6.2(C) [R] 6.11(D) [P] STAAR: M1

6 M06025488CS 140 6.3(C) [R] None STAAR: M2

7 M063023157

A. 15:30 or 1:2; 15 to 30 or 1 to 2;  or 

B. 150 sixth grade girls

C. Eating Out : Other

6.3(C) [R] 6.13(B) [P] STAAR: M2

8 M061150057D J 6.4(A) [R] None STAAR: M2

9 M063044902 A 6.3(A) [S] None STAAR: M2

10 M061086629D G 6.2(C) [R] None STAAR: M1

11 M061086661D C 6.3(A) [S] None STAAR: M2

12 M06025487CS 24 6.3(C) [R] None STAAR: M2

13 M061092909D A 6.3(B) [S] None STAAR: M2

14 M061092911D Rosetta. Review proportions to solve this problem. 6.3(C) [R] 6.12(A) [P] STAAR: M2
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